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PART — A 

Choose the correct synonym for'the word. 

The hatchlings slash open the leathery eggshell• with the help of a tiny 
egg-tooth 

	

cut 	 (B) open 

(C) 
 

share 	 (D) see 

Choose the correct synonym for the underlined word. 

I certainly will be happy when my little sister follows her Passion. 

(A) quit 	 t desire 

(C) hatred 	 (D) joy 

Choose the appropriate synonym for the underlined word. 

Ajay started to paint happily 

(A) depressed 
	

joyfully 

(C) unhappily 
	

(D) sadly 

Choose the correct antonym for the underlined word. 

Ilavazhagi won world championship in 2008. 

(A) attain 	 (B) succeed 

	

lost 	 (D) achieved 

Choose the correct antonym. 

The vegetables look fresh ' 

(A) modern 	 dull 

(C) new 	 (D) shining 

6. 	Select the correct plural for the word 'formula' 

(A) formula 	 formulas 

(C) formuli 	 (D) none 
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Select the correct plural for the word clock 

(A) clockes 
	

0 clocks 

(C) clockus 
	 (D) clock 

Fill in the blanks with correct meaning of the sentence. 

Sea turtles live their 	life in the sea. 

(A) hole 	 ® whole 

(C) holes 	 (D) wholes 

The expansion of GST is 

(A) 	Good and Service Tax 
	(B) Goods Service Tax 

0 	Goods and Services Tax 
	

(D) None of the above 

Select the correct interrogative adjective for the given sentence. 

	colour dress was the man in? 

(A) How 	 0 What 

(C) Why 	 (D) Who 

Complete the following sentence by selecting the appropriate preposition. 

Can you finish the work 	tomorrow? 

(6) by 	 (B) in 

(C) at 	 (D) within 

Complete the following sentence using appropriate preposition. 

Is your mother 	home? 

(A) in 	 at 

(C) on 	 (D) with 
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Choose the right option. 

	 did you go Yesterday? 

(A) Which 
	

0 Where 

(C) What 
	

(D) Who 

Choose the right option. 

 

  

us go for a walk. 

 

   

 

(A) Shall 

0 Let 

(B) May 

(D) Can 

Make sentence in the present continuous tense using the verb given in 

bracket. 

Who is that boy 	 on the table? (stand) 

(A) 	is standing 	 standing 

(C) stands 	 (D) stand 

Choose the correct preposition. 

I was studying 	 the morning. 

(A) on 	 ® in 

(C) for 	 (D) during 

Choose the correct prefix for the word 'nutrition'. 

(A) il 
	

(B) dis 

01 mal 
	

(D) super 
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Choose the appropriate suffix for the word establish. 

(A) ness 	 (B) tion 

ment 	 (D) hood 

Abbreviate ITT. 

20s. Indian Institute of Technology (B) India Institute Technology 

(C) . Indian Institute of Techniques (D) India Institutional Technology 

20. 	Select the correct plural for the word child. 

(A) childs 

(C) child 

• 
children 

(D) none 

Choose the correct plural form for the word deer. 

0 deer 
	

(B) deers 

(C) deeres 
	

(D) deres 

Choose the correct antonym. 

The explosion had weakened the buildings foundation. 

(A) drab 
	

(B) dull 

0 strengthen 
	

(D) weak 

Choose the best answer. 

I will come if I 	 time. 

have 
	

(B) had 

(C) 	will have 
	

(D) has 
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24. 	Choose the correct infinitive. 

I like 

(A) walk 

to walk 

early in the morning. 

(B) walking 

(D) walks 

Choose the appropriate prepositional phrase. 

I would like to order coffee 	 tea. 

instead of 	 (B) instead from 

(C) 	instead to 	 (D) instead 

Fill in the blank with the suitable phrasal verb given below. 

Could you please 
	

in ten minutes? 

(A) 	call on 
	

(B) call up 

(C) 	call out 
	

(,) call back 

Replace the underlined word with the correct option given below. 

I had completed my home work. 

(A) has 
	

® have 

(C) 	will had 
	

(D) was having 

Choose the correct compound word to fill in the blank. 

We can see a 	 bow after summer showers. 

(A) sun 	 (B) arrow 

rain 	 (D) sky 
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There is a certain relation between the two given words, find the relation to 
find the missing word. 

Bread : Bakery, Brick : ? 

(A) Mint 	 0 Kiln 

(C) Furnace 	 (D) Mine 

Choose the correct plural form for the given word: 

bacterium 

(A) bacterias 	 0 bacteria 

(C) bacteriums 	 (D) bacterum 

Fill in the blank with the correct option. 

wonder 	 

ful 	 (B) ness 

(C) ship 	 (D) hood 

Fill in the blank with the correct option given below. 

	he is ninety years old, he is in the pink of health. 

(A) When 	 (B) Since 

0 Though 	 (D) Whether 

Choose the correct determiner from the options given below. 

There aren't 	students in the library. 

(A) much 	 0 many 

(C) 	a lot 	 (D) every 

Choose the correct pronoun from the given options. 

Muthu likes computer games, but he doesn't play 	very often. 

(A) he 
	

(B) him 

(C) his 
	

®it 
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Fill in the blank with the correct option. 

protect our health. 

(A) can 	 (B) shall 

(C) may 
	

OD must 

Mention the parts of speech for the underlined word. 

He belongs to the rescue team. 

(A) Noun 	 (B) Adjective 

(C) Adverb 	 0 Verb 

Choose the word correctly spelt: 

founder 	 (B) fondar 

(C) founnder 	 (D) founderr 

Choose the one that does not belong to the group. 

(A) mustard 	 (B) garlic 

corn 	 (D) pepper 

Fill in the blanks with appropriate airline vocabulary choosing from the given 

options: 

We will be 	in Chennai in approximately ten minutes. 

(A) take off 	 0 landing 

(C) 	touch down 	 (D) run way 

We 
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Fill in the blank with the appropriate preposition: 

What do you do 	weekends? 

(A) at 	 (B) in 

0 during 	 (D) on 

Choose the correct verb form of 'swim' for the space in the sentence: 

	 is a good exercise. 

(A) 	To swim 
	

(B) To be swimming 

0 Swimming 
	

(D) To have swimmed 

• 

Choose the alternative that is closest in meaning to the word-in capitals. 

EXCESS 

(A) excuse 	 0 surplus 

(C) example 	 (D) great 

Fill in the blank with the correct option. 

understand. 

(A) un 
	 mis 

(C) re 
	

(D) ful 

Fill in the blank with appropriate compound word, choosing from the options 

given below. 

He witnessed a snow 	when he was camping at Darjeeling. 

(A) ice 	 (B) cold 

fall 	 (D) rain 
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Choose the word correctly spelt. 

(A) acurate 	 accurate 

(C) accurat 
	

(D) accuraate 

Pick out the word that means 'lost balance'. 

(A) startted 
	

0 stumbled 

(C) blurred 
	

(D) blushed 

Fill in the blank with the suitable linker: 

Walk carefully 	 you will fall down. 

(A) unless 	 (B) though 

(C) and 	 (1)) otherwise• 

Choose the option that best describes the condition of the person in the 
sentence. 

As she went about the chores, her singing was muted and a little sad. 

(A) excited 
	

worried 

(C) surprised 
	

(D) happy 

Fill in the blank with the correct option. 

The impact of two vehicles can cause a lot of 	 to both. 

damage 	 (B) damages 

(C) damaging 	 (D) damagings 

Choose the correct option. 

After the treatment, he was relieved 	 the pain. 

(A) for 	 13 of 

(C) from 	 (D) with 
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PART - B 

51. 	Which one is not part of the Panchayat Raj? 

(A) Samiti 
	

(B) Village 

0 Township 
	 (D) Zila Parishad 

96b-rg u6EFrriu iirru4p.) &tam? 

(A) EFuS10 	 (B) 1rrwib 

(C) 	parfltuth 	 (D) ad)Gun- urflarr 

The first state to be created on Linguistic basis was 

(A) 	Kashmir 	 • 	(B) Tamil Nadu 

(C) Karnataka 	 6) Andhra 

(y30) GwrrOlairrrfl inrc6lcuth cr§? 

(A) ErrG4uSn- 	 (B) puSlxri-61 

(C) &ftpn-Lrr 	 (D) =9S,6017rr 

The Chief Justice and other judges of the Indian Supreme Court are appointed 
by 

The President 	
• 	(B) The Attorney General 

(C) 	The Governor 	 (D) The Prime Minister 

@,A1 t1J ff,SC ,60u)Gir1p pepc-umw $L J1 	51,0 ,gOulamar puuSIC_JuGufr 

(A) 	64.tll 170 plOGll 611 ft 	 (B) pa)Guco-)u) Gupi666-017efr 

(C) --ZSPfr 	 (D) 6-117pLo 1101 

Which of the following is sensitive to ultrasonic waves? 

(A) Man 	 • Bat 

(C) Bird 	 (D) Fish 

C,ffierrrr 961coliu P_Goaroib pdsrano u_i1-3E66 	-refro? 

(A) 	w6-61(fcrr 	 • 	(B) G 61J 61761.1 rrci) 

(C) u,D6olai 	 (D) uSG-isr 
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Where was the first Indian National Congress met? 

(A) Delhi 	 Bombay 

(C) Calcutta 	 (D) Madras 

(4)0) 	uJ GOiu ffirrrki AlgoSlar EiLLIL_Lb crrL6 uuj 

(A) QL_GbeS1 	 (B) uiburruli 

(C) 	Epn- 	 (D) Cl&Gisrmar 

The Forward Block Party was started by whom? 

LAD Subhash Chandra Bose 	(B) Motilal Nehru 

(C) 	Rajaji 	 (D) Raja Ram Mohan Roy 

o'ourritadr@ Slurn-& aL69 turruTrGb Qprn_itaLiuili_gy? 

(A) 	6frurrGili .5,013-Gurrciu 
	

(B) CinrrOGurrGi) Cpo 

(C) 	firi-Nrra 
	

(D) 9-n-Nrrg-rrth Cumrth6-4 !mu 

The National Fruit which is common for Philippines, Pakistan and India is 

(A) Banana 	 (B) Fig 

CD Mango 	 (D) Jack 

51611_116-ou6igGfu, urrgGiu1r6i1 Li4g ,&011_1 prr@s6616-4 Clurr§Gurrar GpALI upth 

(A) 	611 11-66V 	 (B) 

(C) 	LD fT 	 (D) uGurr 

Who said that "All Lives are alike birth"? 

(A) Kambar 	 (B) Ilangovadigal 

(C) Thirumoolar 	 Thiruvalluvar 

"51,TLIClurrebtb or-Gb6on-  _11.96-&(5a2," crGirr,DGufr 

.(A) &thun- 
	

(B) @errrLiCthITGUL9_6664 

(C) 	1(5cy:A-ufr 
	

(D) 03GuGiTL5 u ft  
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The most populous state of India is 

(A) Bihar 	 (B) Maharastra 

0 Uttarpradesh 	 (D) West Bengal 

mtaL Grr6-6),sesai GlErrum_ @,6011J LDIGui_b 

(A) Semrrfr 	 (B) wffirro- ri-G*9_17th 

(C) 	17 51Q-Cp&W 	 (D) Gin, 	GurEmEtb 

•Choose the correct district which is rich in iron ores in Tamil Nadu 

(A) Ariyalur 

0 Salem 

P-64,51r1-19-Gb @(51-b4 
Gpn- Qp®ZubalW 

(A) 	.irflu_ig.firr 

(C) 	o th  

(B) Madurai 

(D) Kallakurichi 

prroiLaGi-r <466th ,616-6),T,tp &fq IL [TOT torralL4G-np 

(B) up§ong- 

(D) &en-166,0141 

61. 	What is the colour, on top of the Mile Stones in State Highways? 

(A) Blue 	 (B) Yellow 

Green 	 (D) Black 

wrr 	Glp@e6Frrmcw.516-isr 9 ITO gi GTE 61MD 	ffi 	6iFF 

6,EF LIL9_0113 

GrG1.161.1(161)11Tth 

  

(A) •putt, 
	 (B) LD 

(C) 	u,#GbIlf 
	

(D) 601:1 y 

MHCDR 24 
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62. 	What is the meaning for this 50? 

(A) 	Should proceed not below the speed of 50 Km/Hr 

0 	Should proceed below the speed of 50 Km/Hr 

May proceed above the speed of 50 Km/Hr if necessary 

None of the above 

50 Grdsrupdr eSlarlsffith G-rdsresr? 

abooacf_C_Iun-a 50 R.L.S/Lcatifl G6I.J6500(5,t (611),DiurruNi) Cl&Gbco GaluoiGlib 

50 g.LIS/LDOnfl G61J&A61-1 QEF6b60 C6116dtri@Lb 

GpeDGIII:JurrGb 50 g1.uStinG-64 Gai,E60,WEE al@p-olTESallb CI,EFGtGoGurrth 

Gr§G-110) &tem 
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63. 	This Symbol indicates 

(A) 	There ahead a Four way Junction 

Do not stop or park the vehicle 

Do not park the vehicle 

None of the above 

Grcb-ruo STGopt 

prreo-r(5 (y)o)cair# 0$11:Jg EFrrcoo) rrrj 

GIJ 1ra615T6tOp 	 ,16b61)§ ,610JA0 01)61A6C61J IT alt_fT§J 

Gurra6ar6np urrfr,tgrJ CLr.Fiiiu& aLJrJ 

@Gbcocu 
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64. 	The continuous yellow line in the middle of the road means 

(A) 	May cross the yellow line if necessary 

Any way should not cross the yellow line 

May cross the yellow line while overtaking 

None of the above 

arrco-)GutaGisr 61D LD WO 61) ,gerrGu rr L4Gb 61J 611)71111_11 u C__40Z6(563 Qprri_ftaAturrar 	in6aGtr 

Carr@ 

••••••• 

Gpenen:_iuLL_rrGb in6a6tr Can-LeDLA aL_assGurai) 

in8aGiT CarrL6-m_16 6560014Liurr6s& 	 ani_rrgi 

alrraGurcop 000a Q 	bcuirj LDL@Lb aL_aaGun-ib 

or§aith @Gb62260 
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This symbol indicates 

(A) 	Hospital is nearby 	 a Resting Place is nearby 

(C) 	Restaurant 	 (D) None of the above 

N,416-irra-rib G-res0 (5,thl&k,D§? 

(A) 	L.DogiaILDG5)6111" 	 (B) 9u1sal @s_s_D „940g&G-i-re-r§ 

(C) 	2_60010_1 a51610 	 (D) G-r§aiths @G-1)6-zm 

This symbol indicates 

Must turn left side 

Must turn right side 

Road is turning towards right side 

(D) 
	

None of the above 

gifbiGirrarib G--rcop& 6fil&gl,D§? 

ackrriun-a @s_oLLDLI) Alothu Gawks-rWD 

gkioiLs_i_urrefi GuG-op_oth #0Liou Gawkr@th 

&mem 611041Lp LD 61.161)610§ Cl&Gi.).4§ 

cr§aiLD &taw) 
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(A) 1, 2, 3, 4 

(C) 1, 4, 3, 2 

(B) 1, 3, 4, 2 

(D) oroalth @Gbam 

67. 	How can the efficiency of a driver will be judged? 

Driving the vehicle in the proper speed 

Driving the vehicle carefully 

Driving the vehicle safely by adjudging other vehicles 

(D) 	None of the above 

9ft 9L®p616irr Op OD.WeDUJ 616/J6111-101 Ofrbaituth CLEFERuGorrth? 

airraar6-np# giTuar GGii<s606.) CIEF041Gugi 

airrEcurp)p &Guerrtnrra Q6Pg$0€1.)§ 

GurraarpDp urrgiarn:Jurrffi, 1_13,thW aimarrL666-nerr ,9iggyffi§ Cl&Wop6-1) 

Groaith @ci>6-6)Go 

68. In a four cylinder engine, to get power for one time for every cylinder, the 
flywheel should complete 	 rotations. 

(A) 	One rotation 	 Two rotations 

Four rotations 	 (D) Eight rotations 

prrGisr(5 b1G-61efart.jr cr&g6616), G-1-6b6orr ,g66160olLir5sofigllb 93&61Dp uGurr kGm_emg 
616-ncrre3Gb 	  69-MgaGiTFrjbD Gaickr®Lb 

(A) 96irg 
	

(B) @Q-4;601® 

(C) prrGirr 
	

(D) 

69. 	Firing Order of a Four Cylinder Engine 

(A) 	1, 2, 3, 4 	 .0 1, 3, 4, 2 

(a) 	1, 4, 3, 2 
	

(D) None of the above 

prrGisr(5 AGSlefuri_n-  GT66i16-616isr ,fouturr brrft 	  

El 
	

1 
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70. 	What does it means BS-III in the vehicles existing at present? 

Model of the vehicle 

Productivity of our Nation 

Indicate the level of "Toxic content" in the exhaust smoke 

(D) 	None of the above. 

AthGurr§drro-r GurraarrrIkseffiGt 2._GiTGIT BS-III adsru§ 

61111a6IST LorrLam& (5,64(5th 

pt.r3§ paLki_Girr 	u0t.1516-1D6-64  

6/I fTESOT L1601E66161) Q al 661 C.1 l_16) vc.Efr$ OW01011964 	Grrce)Givf6 (564(5th 

croai @Gbam 

	

71. 	Why a Turbo-Charger is placed irr a vehicle? 

To cool the engine 

To clean the smoke exhausted from the engine 

To feed more air to the cylinders 

(D) 	To clean the air to engine 

airrsesr061) LjrGurr,Efn-nn(r Clurroi:JuL@Gi-rerrOrr Esnlyearth 

orblenccir (56616-611566 

crAesfiGISlogi QaidGu..v.i) LI OD& 60 Li erOt:JuG4p 

elaSlati_01E(56i-r ,46511311-ffi arr06-6),D 	Ciu 

ji 	ul„%111:_iu 

MHCDR 24 	 20 	 El 



	

72. 	Which is the proper Gear Position to start the engine? 

(A) 	In Neutral position 

In Neutral position and the Clutch Pedal pressed in full 

In Gear engaged position and the Clutch Pedal pressed in full 

None of the above 

G7- 6N-6)6-o-r GO 	urr 	rrftt CLERLIp6i) 

Abu& OgLITG-1) 06-6)60616) 

squirY 	06-6Kuti5161.) gurLIF cyDgeip.orra •=1(0Al& 	® 

ujoCurrL 	rr 	Qu1_65)60 (y)Uaio wrra .4(0p5 ClarT660161 

Grgiaith @G-1)6tow 

	

73. 	This Symbol indicates 

(A) 	Must turn left side 

0 Must keep the left hand side 

There is a slope in the left side 

None of the above 

@IFAGisrarth 

E6001t+Liurra 	00Lbu GG-uoSoi 	@Lb 

6mioliLiurra @i_gi 913th Q&Gbffi 

@Lodo g61Gurra P_Gi-raro 

@Gb6-6)60 
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This Symbol indicates 

(A) 	Give way 
	

(B) Family Planning 

0 	Allow to overtake 
	

(D) None of the above 

N:EF16-bresrth 

vP 
(A) 61_101 GO® 

(C) 61101 Garr® 

This Symbol indicates 

(B) 	6L@LliurrG1 

(D) GrgiGlith @GbaKo 

(A) 	Guarded Railway Gate 
	

(B) Train Engine is coming 

Un-Guarded Railway Gate 
	

(D) None of the above 

0,EFA6b-rosub 

(A) 	urrpm-LigGi-rar vuSlcbGai G&L 	(B) @ijuSIGi) or6A6bi Guog,m§ 

(C) 	urroa'rri:JuAD iyu516bGei GffiL 	(D) oroap &tam 
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76. 	This Symbol indicates 

Must turn left side 

Road is turning towards left side 

If necessary, may go left side 

None of the above 

@,t416tirarth 

EatraJurr& 	Aloi.bualth 

.Efrrem @i_p_otb Aloti)Lclic CLEFG-1),ERD§J 

GpeDGuiliuC_LsrGb @L_NL01.1) G&61)6061)11- th 

croqtb @Gb6-6)G-D 

77. 	To start / move from the "Traffic Signal" 

(A) 	Red, Yellow, Green 

Red, Green 

Yellow, Red, Green 

None of the above 

tg_urr51,t Atar4-61610,6§ ypiLiu®Lb Qurrugi 

blELI:JLI, we&Gi-r, LIEFGA5 

uifesmF 

L.065rG'rr, ‘4161:1LI, LIAG1D5 

criG14 Lb @61.)66)Gll 
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78. 	First thing to do to stop the vehicle 

(A) 	Apply brake after pressing the clutch pedal 

Apply brake first and then press the clutch pedal 

Apply both Brake and Clutch at the same time 

None of the above 

auTgaffPDP AgiftGlIP, 	GDPG616)  

Al GrrCjEF Qui_am ,91(00iu 61,D6 	 Ca16601611.1) 

LcKIJ& L11_66)60 	 L51,mp1r6-4 Alani& Qum .,91(0p Gaiwoi@th 

OixoNioi®Gin 9Gg-  5Lou406) .„%iG0p C6u6601@th  

cr&aido &tam 

	

79. 	This transfers the power from Gear Box to Rear Wheels 

(A) 	Gear Box 	 (B) Clutch 

Propeller Shaft 	 (D) None of the above 

Aufrun-etAaSlat& G-1.1003 @u..01ty &uj ijigGirr 	rrjG-r@gi& Q&G-b41,0 

(A) AltufturrIsdo 	 . (B) eglerriL 

(C) 	LAQq-rrt."AuGbwit rrUL 	 (D) er§ap @Gbem 

	

80. 	Which one distribute diesel to the injectors as per the Firing Order? 

(A) 	Distributer 
	

Fuel Injection Pump 

(C) 	Spark Plug 
	

(D) None of the above 

L,EF66)61) uu_Jrfirti 	uki_46C1&&i_itebefiCi L5161 	poei§ 

(A) 	i061gC_Lir • 
	 (B) , LSIgGb@CLEF&E619,6-b-r ULL 

(C) 	6i0 u aft& aerreL 
	 (D) cr§apb @GbonGo 
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81. 	This is fixed in the Engine Cylinder Head 

0 Inlet, Exhaust Valves 	(B) Engine Oil Pump 

(C) 	Connecting Rod 	 (D) None of the above 

orb16-b-r 416616,50iLir Clwit+Gi) @gi QurropiLluL@Gi-rerr§ 

@GirrQGoL, or,t6Frrcithl e_irrGbalaciT 

F6bTU) ULbLJ b 

aQ6-o-rEsicF rL uTr® 

. (D) GT§ap @G-1)66)Go 

	

82. 	This cleans the dusts in the fuel 

(A) 	Oil Filter 
	

0 Diesel Filter 

(C) 	Air Filter 	 (D) None of the above 

G-rrflQurrothIgAtro-r giblthGnerr @Ol 

(A) 	,,w1516) 51GIA_It 
	

(B) LE) 51Gbi_1r 

(C) 	63-it 516bLjr 	 (D) orgialth @G1)60a) 

	

83. 	Improper or worn out Spring Bushes cause 

(A) 	Worn out of spring bush 

(B) 	Spring pin will come out 

Spring leaves will be dislocated 

(D) 	None of the above 

Gio5161rLauTrtgLGlath &61u_in-g @GbGurreSILL_rrGb 

(A) 	GiuSlrfirti LA Gil, Cpuith 

(B) obi...961FL 516-br 

(C) 	doL5161rti uL6thththonGu,60 5rrGooluu@th  

(D) 	@Gb6-6)GD 
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84. 	The steering system of the vehicle is fixed in 

(A) 	Gear Box 

(B) 	Rear Axle Assembly 

0 	Front Axle Assembly 

(D) 	None of the above 

airra6-061Dp 00Oye.i§pLrrecr Giuki_turfi 	,wij 	lo Qurr5pi:JuL. Gtrai-§ 

gaJlt urrtGiu 

i1ujft,Ds6s1G-b „9.616n1351661 

ou .,:%64161) ,61,EFiimgcrfl 

croaith @GbeDGD 

	

85. 	This should be replaced when the engine oil and radiator water found mixed 

(A) Oil Pump 	 (B) Crank Case 

0 	Cylinder Head Gasket 	(D) None of the above 

or6b16b-r 	GIT4GuLl_ft §db-r600 	oth thGobprrGb @6-6)§ wrON Gaiesirr@th 

(A) 	.=wiSIGb utbO 
	

(B) 	rrrj4 Gad) 

(C) 	AIG616duLir QwC._ G5GiugL:_ 	(D) 	@GbcoGu 

	

86. 	Which sends the fuel into the cylinders with high pressure? 

(A) Injector 

Lift Pump 

(C) 	Fuel Injection Pump 

(D) 	None of the above 

orrflQurromar ujft‘1(0§$0G-1) 41615160011456.4 GtoigGIT CIEF1OGu0 

@CLEFER_fr 

61CA: uthi_i 

61g6b N8QE:sg-r uthci 
@Gb6-6)GD 
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87. This helps to rotate the rear wheels in different speeds while turning in a 

curve 

(A) 	Crown Wheel 

Sun, Planet Gears 

Pinion 

None of the above 

al GO GriGli thl 61) 	(5 Lb Li do Gurr§ 516-bTyp Eciusu- rL66GiT Q GiIC g GG-11lGi) 

61MQ&iLiu j  

g 1J6TI-Giff GSGb 

&L aGrurart.: gliuifthGtr 

616-6111_16-isr 

@Gb6-no) 

88. 	ABS Brake System used to 

(A) 	Fill air in the Air tank immediately 

(B) Avoiding the Clutch slipping 

\CO 	Saves the vehicle from skidding 

(D) 	None of the above 

ABS LC1GOs alcim_tb 

(A) 	gn-  Gt_itgld) ffirr06-6),D 0.516-6)9-airrffi OryLiggl,D§ 

(B) gurLif GIKV6(5p6-6)G4 

Gurr6Gonb GiukC_ <9sgraneb urr§grrueDuA pogl,D§ 

6T§J 611113 	61) 66)60 
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89. 	What can a driver knows from "Odometer"? 

(A) 	Speed of the vehicle 

(B) 	Revolution of the engine 

Distance covered by the vehicle 

(D) 	None of the above 

9LJ L&LftuGuth 9t1@pit ,z91,ft§ Oa IT& Lb 61urith 

n-666trrGirr GG1.1 & Lb 

G-rb16-616-in-  &OA Gaiffith 

Gurr&errth 

cr§j6iith @Gi)G-no) 

	

90. 	Between the Battery Terminals and Cables 

(A) 	Apply Grease 

Apply Vaseline 

(C) 	Apply Oil 

(D) 	None of the above 

GuLL_61 Qu'ru5167Gb&&Lh, G&L9Gbth,t(5t_13 @6-6)1_61Gb 

gfiTciu pL_Gu GaibOol@th 

irr&b 	JoILb 

•=stA1G-1) pL_611 	Oor@th 

or§jap &taw') 
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91. 	When the vehicle in the top gear and the speed of the vehicle reduced to the 

speed of a man walking, driver has to change 

Shift to second gear and gradually increase the gears 

Shift to third gear and gradually increase the gears 

Shift to fourth gear and gradually increase the gears 

None of the above 

ain-aerrth trrIjglw61Gb Qa6-b-rg QffirrboolL9_(5/51.1)Qurruo, 	Galeub 
	

Puft 
GaiE4Ab ( 6-6)00 

@u-66orre_10 glaJoE5 61Jb§J Lql,D au)6i) gu(516 ukpluirFuJrr6 wrr,b,mth CLEFLui 
GaiGOot@th 

u6b-r,orrai§ Aluok5 GLOgi 51,m(5 GLoGi.) uj 1  uy:Juicpurra wrrawth QffuuJ 
G61J 600I 	@ Lb 

prreo-rffirmugi ktuV66 G-11,6gi 51,06 GinGb AlLuo,t(5 u4uuki_u_Jrr& LorraDtb CLEF U:J UJ 
G61J 6001@lb 

oroaith @Gb6-6)60 

	

92. 	The "Ground Clearance" of a vehicle means 

(A) 	The measurement between the roof of the vehicle and the ground 

Vah 

	

The measurement between the bottom end of rear axle housing and the 

ground 

The measurement between the centre of the front wheels across 

None of the above 

6111165660 dr gliTaido-ri: A1661 UJIJ61fr 6ill 6T6t fru§ 

Gurrae-r$GisT 6616-6),DLb, pcnig5i1) &DI_CUJurGrr .1Grrai 

il1ujft,=VGAGi) w6-OrL696-isr 4 cywnerr&(5L.1), peng-e166Lb &ini_Giuu_lerrerr 

( DieE(5 	61J rrilb 	0D6t. 	@1)-(,6o1G1 	ae565grLaca1d-r 	6toupu_kt 	G81-r®5bLis 
@G-ni_GuAG-trer 

oroaith ,@Gbooe) 
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93. 	If the front tyre/s burst while driving 

(A) 	Use Foot brake immediately 

(B) 	Use Clutch immediately 

Hold the Steering Wheel firmly 

(D) 	None of the above 

Gurrtharth 99LbCurrgi 	&&651)0 6-4 LAU G Igptgl,DD 

P_L_Ging_ui rrth 6srr61) igalT&611)& uGiurrgtaap 

rLcJu rr& g6rnies)& p_uCuirrAl&Eadth 

ctutii_u_Artiesmh CLELLA.s_LurrffiaLliA66eft) 

Grgaith GI)611)60 

	

94. 	If a driver consumes liquor or drugs 

(A) 	Determination power of the brain increases. 

Determination power of the brain decreases 

(C) 	Determination power of the brain not affected 

(D) 	None of the above 

9L®pft LD§U Faith 16-1)61)§ CurrGopgi.:61th ClurroLAG'rr 40,6§Gup6ISTIT6i) 

e.pcouruSIGisr cy:ll9_QG-ii@k5th p6-b-renup .„910arfilggxgi 

y)rruS16-b-r gi.g_Qa1G*5th p-irrco Ls) (6-6),06g1,TD 

umar616-irr g4ClaiGVE6(5Lb paicoLro urrOSE,E6Uu961.106bam 

cr,§aiL.1) ,@‘-bcow 
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95. 	To use the Motor Vehicle for transport 

(A) 	Get permission from Inspector of Police 

(B) 	Get permission from the Officer of Transport Corporation 

Get permission from the Regional Transport Officer 

(D) 	None of the above 

GuNrLi_rnt Gurrtharp-opLi Currk5a19- 01;(5L11 uuidsru6W 

Cur 	,DsiiiGurrarfr Gue.fib 	jw1 Qu,D Gaickr@th 

ujij 	uckb 	Qu,T Gamow 

LD 6001 L_60 Gurrt6G-thy§ 	rruib 	ILD1 Clu,T Go.16001®th 

61-0 61.1 Lb @6b03)61) 

	

96. 	Major Controls which are controlled by hands 

,O) 	Gear, Steering and Hand Brake 

(B) 	Steering, Accelerator and Hand Brake 

(C) 	Hand Brake, Steering and Brake 
• 

(D) 	None of the above 

6.6)&fficrn-rd) 	uCiuLbGiDNft.  ffid-ril.Go- rrGimuir 

kujr, eithsf uirfIrL, epffi L.S1GoA 

dui+LuifIrL, —s&blGoGo-Lc_fr, esms eGigs 

qoth LSIGIJA, 6i1MCFLUMIL iS1GOE 

croap @Gber)Go 
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97. 	While driving in hill declination 

(A) 	Driving with engine shut off 

(B) 	Driving with clutch off• 

Do not drive with gear in neutral 

(D) 	None of the above 

it3GoGo& 5la166-fild) Gummi?) 9L@Go Qurruo 

cr6e16-isi 	i. Glytugt 9Li_Gurrth 

gGrrLif ,z9s1:1 Clefibgi 9Li_Gurrib 

iun.  uCya616) 	,Erco_riti 

GT§161.163 @Gbem 

	

98. 	In curves 

Do not overtake 	 (B) Can overtake 

(C) 	May overtake with caution 
	

(D) None of the above 

61J 606T161.160f161) ma-rpRo 

(A) 	GtD,6,t .55,_t_ntt 
	

(B) cOpGurrth 

(C) 	GrEy&fttignEturr66 g$pGurrth 
	

(D) er§aith @Gb6-6)Go 

	

99. 	For Emergency Vehicles 

(A) 	Do not give way 

Should give way with preference 

(C) 	Should over take 

(D) 	None of the above 

.16/J,EFIT 116613Tft.HELV6(.5 

(A) Q.4.1 	ani_rrgi 

(B) 	c9Girrot1fliamn ,mGfil$§ Gu01 at_ Galati-Glib 

.(C) cy)01 CIEFG•oGu§t 

(D) 	cr§miti) @Gb6-6)Gu 
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100. While a electric fire in a vehicle, as a first step 

(A) 	Extinguish it by pouring water 

(B) 	Extinguish it by spreading sand 

(g) Remove the Battery Terminal Cable connection 

(D) 	None of the above 

GurraerrOGb Gisr5n-rj$ $ GVuLi_rrGb gpoSIG-1) 

piolosafit 20,61 ,916-toboohtth Gem601@th 

LNAT610601_11 GurrL61 ,=wnerar&& Galbdoi@th 

GuLl_61 GaL9Gb @Goeso-n_116-nu ,j6i56-rt040 eS1L._ GaR,O01@th 

G-r§e]th @Gbam 

101. A driver can give good exercise to his eyes by 

Always keep seeing only right side of him 

Always keep seeing only left side of him 

0 Without keeping eyes on a same place, should used to see both the right 
and left sides of him and also to see long and short distance 

(D) 	None of the above 

9L®prr ffiefur,s616(5 p‘ba) u6104fliuG-61&& 

912_6\5(5t6 61_160§1 uibaierraGal urrTreb6 C61J6001@th 

91_:61,506h(51&j uiusLerra urrrrim5 Galefor@ib 

urrn-6-nal 9G13-  @L_$$161.) GprLae_Srrup61), G1J60§,Lj Loth $600,0th (5gA1uid) 
,@0Lerrgi uwegleb Clarrdren-  GalbOca@Li) 

Grgiqth @cbcoGu 

102. The colour of the Mile Stones placed in the Rural roads 

(A) Blue 	 Black 

(C) 	White 	 (D) None of the above 

FFLD afT615)6ll gGG-orr uSLL_ri-  806sGild) 6<scULALLEFoiEtip 61166oicarah 

(A) $GoLb 	 (B) aoLly 

(C) 	QQAtreoerr 	 (D) Grgiap @Gballo 
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103. Where the Main Road and Approach Road meets, the driver should 

Give preference to the vehicles coming from Main Road 

Give preference to the vehicles coming from Approach Road 

No preference for any vehicles 

None of the above 

gp6i5T66)ID# IFIT6060, gleoGrric6F1ram 60,Lb 6,thAlEn5161) 9C_Glp 

gp6b-rannIF &rrencou5161) Guoth Gurr6a-rithst gcb-rgyflenin CLEErr®C_Iugi 

g1G-no-a &II G1060 6161) 61.1003 61.1R6561ST rtifbc.ft cy)Gisrgifflomp Q6srr@Ciugi 

G-Ltp Gurr6emth%Lszt663 gdirgifflano Alcol_turr§ 

@Gb6-6)Go 

104. Validity of Learner's Licence (LLr) from the date of issue is 

One Month 
	

(B) Three Months 

(C) 	Six Months 
	 (D) None of the above 

1116101J1WLb 61.10i ELLu1_L_ CpOuSloSlo,t§ Cl&Gbgiuui_turr(5a) arrGuth 

(A) 	90 wrrpCo 
	 (B) 	icrrpth 

(C) 	in1rpLi3 
	

(D) Gr0ap &Dam 

105. In a Light Signal, this means to get ready to go 

(A) 	Yellow light will glow 

Green light will glow 

Red and Yellow lights will glow 

None of the above 

GEIG-rr,t6 Ater661G-1) LoDuL_A piunt orar 

u)86FG'n-  6111l14 Lb 

u#Gb-mf cr61114Lb 

Az6C_NO:), 	 cr61114Li) 

GI§ 611th 	61) 6061) 
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106. This type of Sign is kept in Un-controlled Junctions 

Mandatory Sign 
	

(B) Caution Sign 

(C) 	Informatory Sign 
	

(D) None of the above 

ffiL@C_Iu3101:_lut_rr arra)Goif aMILliyfficrf161) @,6p# gdirenb GDGIAffiLliuo;FL(Vo 

(A) 	_$13-Glia bldrerrth 
	

(B) G-r.#&61,tepalF gGirrerrib 

(C) 	pacucb 416'61661th 
	

(D) cr§Glith @Gbes)co 

107. In general while seeing the Caution Signs, the driver should 

Reduce the speed of the vehicle 

Increase the speed of the vehicle 

To continue to go in the same speed 

None of the above 

Qurr§Gurra G-ra6116c6),Eas alGirre-rita6-net-r& lEbooli_rr6b 9L61,56- 

airra6zsrl6irr CG-lia$copis (561f),m&a GGIJ660 	9 Li) 

Gurraerr$lecri GGINE6Gop 41661,eba Gaidar@ii) 

CJk1 Q&GI) 60 G6116001 Lb 

orgjap @GtGocu 

108. In Hill Roads, the preference will be given for the below vehicles 

(A) 	The vehicles going downwards 

The vehicles going upwards 

No preference for any vehicles 

None of the above 

LeeDG-D# .511-6-6mEEGfild) gW1ffiTL 61_11T8561511thEc5/5(5 (pGisrD616-6)Lo 

Gprr&gliF Q&Gbgith 61J rraarrEmEGiT 

Gt.r)Gb Cpn-a414 ClaGbgilb airraerrrtiadr 

G-rp GurrEerritss,1:0 (4)6-irr9161coup &berm 

Gr§jap @Gber)60 
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109. The major reasons for more number of accidents is 

(A) 	Inefficiency of the driver 

(B) 	The driver physically not healthy 

SE4' Wrong mentality of the driver 

(D) 	None of the above 

.16.rre.51 60 11'67 CLorrpcbacsk5 cOgiu ITIJOUth 

9L6101615T ADcoli.o.t (566),D611 

9L61,56164 2_t_Gbpwis (5c0),61.1 

91.:61p616isr pGuxrrar waruurrdirmin 

cr§Qiii) @Gba-)Go 

110. This Symbol means 

(A) 	Give way 
	

Stop 

(C) 	Make way 
	

(D) None of the above 

&FA drEarib 

(A) Gu0-1 
	

(B) ,61G-b 

(C) Q.101 @Err@ 
	

(D) crgiaith 	6u 

v 

MHCDR 24 
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111. This Symbol means 

(A) Train engine is coming 

(B) Unguarded Railway Gate 

Guarded Railway Gate 

(D) 	None of the above 

@,41615Teir0 

@1Ju516) GrbIGirr aJoA,D§ 

un-§airlilUADuouCaL 

urr§Erria]Gi-rar g-uSlGbGai CffiL 

G-r§e_ith @Gbes)Go 
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112. This Symbol means 

(A) 	Road turns to Right side 

p Must turn to Right side 

If necessary, may turn Right side 

None of the above 

@EFA6israrth 

ef rr6-6) Go GLIG-ogiypth 00Lb6-11c C1561.41,D0 

oiJuirGuo.)Nypii) Ootbualth 

CpGolGuCiuLt_n-61) GuGuoypt.i) ClefGb6uGurrth 

croalth &bawl) 
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113. To whom the preference in the Road? 

(A) Bus driver 

w . 
 Pedestrian 

Cycler 

None of the above 

5rresmuS161) turro16(5 cy)611-rsuf1eDLD? 

Cii0,6§ 9114 

urrpzFrr61 

6-6)&1416-4 

G-1-§Atb @Gbes)Go 

114. To turn the vehicle while going in the City Roads 

Use the lane at the Right side 

Use the lane at the Left side 

Any where you can turn the vehicle by using 3 point turn method 

(D) 	None of the above 

pthfuliqw:EF rfrresKuu516) Qadsro.1 Clarrb6ol40Lb Gurw Gurrffiarrpnp OoDu 

Gum_IN,D ,r,FG-top_11 uiuGirruG4p Gaidar®Lb 

Lqc 6FpoopC_I uui6isruG4p Ge_166-r6kb 

rj cGudtrrGLorrarrrgith u6isrp 06-6)0) OoLliu cy36-6),DuSIG-1) 00C_IuGurrth 

oroaith @Gb6-6)Gu 
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115. Clutch riding means 

(A) 	Placing foot on brake pedal and accelerator pedal same time 

Unnecessarily placing the foot on the clutch pedal 

Driving with accelerator 

None of the above 

glGmitr os)91cpt or6irrugi 

LSIGVEG-nsu_lib, .=VthlGoGITLI__6no-u_iLb 90 a n-G61 

Gpen antS1Gb rr up GI) gleralir Qub LJan-Gb 6-6)G-ufti 9LLG1G-uo 

(C) 	.16e€1G-uGg- LI_L_u-rrGi) 9L@e_i§ 

(D) 	iq u 

116. The colour of the Mile Stones placed at the Major District Roads. 

0 Blue 

(B) Yellow 

(C) Green 

(D) Black 

(pctg U_J wirjL 	&rruur 

6.5E] u Liq_0&603 ? 
917 1g_iGtrar 6- )11)6i) 	61)6616i31 crGii 611 n-Goold) 

(A) ,6G-oth 

(B) up&EFGIT 

(C) LJ6-6)6,  

(D) aoLli 
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117. This Sign means. 

(A) 	Must turn Left side 

Must not turn Right side 

The Road is turning Right side 

None of the above 

@,416-irr6-tirth aa)p<t 601begl,m§ 

thdb-n+C_Iurra @L_gly,DLI) 00Lbu GeJ6001 	@Li) 

awouJurra aiawy,Dii) k5d3u,K6 

arrma) GJGDoy,Duorra eJa)ur, 	Qad.)A1,0 

or&e.lib &i)61s)e) 

El 	 41 
	

MHCDR 24 
[Turn over 



118. This Sign means 

(A) Road is closed 
Limit closed 
Here after the road not continues 
None of the above 

@EFAG'sresni) 

arram ponL Q&ERuLiut:@Gtraro 

pam_ (..y346)] 	T6TLb rf 

( 	4rram Clprri.jr/FA &-bes)Go 

(D) croap ,@Gbccoo 

119. This Sign means 

(A) 	Road is closed 	 (B) Road repair work is undergoing • 
Road Junction 	 (D) None of the above 

,@iFnlGirrarub 

(A) 	ecrram pos)1_ Clen:JuJCiuL@Gi-rargi 	(B) 	1166) GO 616Gun-  peol_Clugell,m§ 
(C) 	Ecrramec EFOIL:iy 	 (D) rib Gb GU 

MHCDR 24 
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120. This Sign means 

May stop the vehicle but not to park it 

The vehicle should not be stopped or parked 

Do not stop the vehicle 

(D) 	None of the above 

orcisru§ 676-6)pA 

GurraarGapp OgMwraiD, ,61,90 GnGue66& 

Gurr.ser*-0 Og. Gaff 161)61)§1 000 coavtaGalff 5611_nti 

Gurrgarpnp AgiMIG 6r6u_rrN 

or§ap 06)6-6)60 

121. When approaching the Road Junction 

(A) 	Increase the speed 

Reduce the speed 

Go fast by blowing the horn 

None of the above 

&ri- 	1iju ClporL6thGurrgi 

GGI.J666-0E6 661Ca_ GG-u6dor@th 

GGuaAmpe6 (. 6-0,T4t6E Gaiefsr@th. 

„DiLii_pt Clan-okra_ Ge.lain1rE6 G6FGim Gaido-r®th 

GrgiGlid) 	6b GID 60 
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122 Wheel Base of a vehicle is 

Measurement between the centre of Front and Rear wheels 

Measurement between the Front and Rear bumpers 

Measurement between the roof top of the vehicle and the ground 

None of the above 

GurrE566061) 060 Gudo TTUJ 

fr61JrrLt.+Gb cypeo-r, LSIGirr &taijrLaGfildsr 	LD UJ 	GEurGlth, 	@Gla_GunAGi-rerr 

prr 61irrC_i+G-1) cy36-iyr uthurf1G-61(5fti adyr uthuñ-  GU 6-15)17u_i GiTar 	laral 

Gurr5co-r016-irr E61.6-nijiL(5LID popi*50) @Gini_Giuu_ldrur .1611-611 

&berm 

123. When parking the vehicle in the downward slope, the gear position to be 

selected is 

Reverse Gear 

First Gear 

•Top Gear 

None of the above 

GurrEsar$G-cop 	Gprr/thlw &616161) ,61,k1 66)Gu&LIDQurrggi 

rflGuftciu 	 Cal66,31®th 

Ey)pGurraigi AuffIGI) Ogip GG-ticdsr@ii) 

(C) 	Ljfl 	lu_JfilGb 	CJoI Lb  

(D) 	@Gbam 
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124. What should be done when sudden brake failure accured? 

kt) Change to Down Gear 

Press the brake pedal 

Press the clutch pedal 

None of the above 

621.1160- 1) p&Clrp 1_51C9-ls 6141sEGE1Gbem ords-r,Dn-Gb 

gluft .LorraDtb Q,EFILJUI C61143601 Lb 

LSIGgeb Qui_G-n6u .(0p Ga.16601@th 

glarLIF Qui_6-6)Go .4(g2i$p Gaidb-r@th 

G-rgialth &taw° 

125. The practice of Clutch Riding 

Is convenience to the driver 

Saves the fuel 

More use of fuel 

(D) 	None of the above 

g6rrELEF 6I719A Cl&u:J61JprrGi) 

9L@15cVs(5 61.16F0 UJIHE 6-trerro 

orrfiClurroGiT G&L.611s6CiuGlgl,D0 

urflGurro& „9i1s5i1) QiF6-061JITg1,0§ 

ugialLip @cbcoGu 
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SPACE FOR ROUGH WORK 
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SPACE FOR ROUGH WORK 
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7. 	Each question has four responses C) , @, ® and ®. Candidates have to select ONLY ONE 
correct answer and shade without fail with Blue or Black Ball point pen in the OMR Answer 
Sheet. In case the candidates feel that there is more than one correct answer, only the answer 
which is considered to be the most appropriate shall be shaded. In any case, choose only one 
answer for each question. (i.e), if® is the correct answer, candidates have to shade as follows : 

Candidates should not remove or tear off any sheet from the Question Booklet. They are not 

allowed to take the Question Booklet and the OMR Answer Sheet out of the Examination Hall 

during the time of examination. They are permitted to take the Question Booklet only after 
the Examination is completed. 

Do not write anything in the Question Booklet, except in the space provided for Rough work. 

Failure to comply with any of the above instructions will render the candidates liable for 

action or penalty as the High Court may decide at their discretion. 

Using Whitener / Blade / Eraser or any kind of tampering to change the answers in the 
OMR answer sheet will lead to invalidation. 

Part 'B' is set in both English and Tamil. If there is any inconsistency between 

English and Tamil version, English version shall prevail. 
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